Rabbi Shua Katz ’ Y7YT| CONGREGATION DARCHEI NOAM
Dirshu Mishna Berurah Yomi — »swn DY) OF FAIR LAWN, NEW JERSEY

(30X 99% X9pY 02998 0°PI05 19 : 12 19°0) 77N IDO NX*IP NIS9A

7-2:19p

Outline
1. Today’s Topics
a. Omissions in 77107 nx»p for 210 oy
b. Incomplete readings
2. DY NPWIDI NPT (3:17p)
a. Ifone skips a p1oo in 7707 nx>1p for 230 ov, he need not return as long as he read ten o°p1op because
the skipped o*p1op are read on their respective ninaw (y71w)
1. Q: What is the case to which this 13%7 applies?
1. Each of the five o°1v read at least three o>pion (%° 2710Wn)
ii. Q: What if a pyoo in 9°von is skipped on 21w 012

1. Nonetheless, one need not return as long as the essence of the o’p1op was read

a. For example, if on the first day of n1310 »”mn, one read only 7»1wn 0131”7 but
not 7w>%wi 01217, then he must return because nowadays, we know that the
day is actually the third day (aw 273wna x211 ®730)

1. Q: What if one skipped 71w o121 but read 7w>wn orar?
1. He returns for 71w 01217 but without a 1272 (aw 271wn)

b. For example, one omitted on the first day of nos between ~ana1pm” and
703°%y 1939~ or on the first day of n1o10 between “ana1pm1” and the end of the
section or one of the o’p105 of 7w 5w 013217 when the first day of mi>10 n7min
falls out on naw (oW 273wWn3a X2 B*IBR MWW ,77X)

1. Q: Under what circumstances should omitted o>poo that are not
essential be filled in? (11 'vm)
1. Only if the 731nx 7572 was not yet made (o>15x ™ww ,n7pn)
3. MYWON MINDIRIP (T:17p)
a. Ifone n%w reads only two o’p1op, he must return to read more (v71w)
1. Q: To what case does the y7w refer?

1. Evenif ten o’p1o5 in total are read, if one 791y read only two, he must read more
because definitional to nx»p is that it be at least three o°pios. This applies to all n»oy
on naw as well (20 271wn)

a. Q: What if half of third p1os was read? (15 'vr)

1. T72y>73, this suffices (10: X B7IX 722 97 ,0772K8Y 7197)
1. Q: Must one make a new 11wx1 7992 when he returns to read more? (3 273wn)

1. Ifanmnx 75792 was not yet made, then no

2. Ifanminx 7572 was made, then yes, and one must begin from where he began the
previous reading because the previous reading does not register

a. Q: What if the two o°piop that were read were very long? (16 'vi)

i. Itis best to call up a new n%w just in case the breakup of the two
long o°p100 should have been three o°pio5 (779: X 171X 9773X)
. Q: What if the next n%v was already called up?
i. He should wait at the n7>2 until the previous 1% reads again
Q: What if the next 7% began or finished his 75722
1. He should read from the beginning of the previous reading, fill in
one more p1op, and then make the 71nx 7592
ii. He should read from the beginning of the previous reading and add
three more o>p1op (X?)
. Q: What should the iy do while the next 791y reads?
1. He should wait at the 12 and then receive the next n»%y, and if he
returned to his seat, a new 191y may be called
Q: What if the 777> 1s the one who omitted a p105?
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1. Ifthis happened during the week, then the »1% should begin from
where the 7175 skipped and then add; he should not read the two
o°p1oo that the 775 read because it will be a disgrace to the o°375 for
the »1% to read those o°py05. Then two o*%x 7w should be called up to
complete the required number of n15y.

f.  Q: What if a 1% read two o°p10p and the congregation notices only after the
5x3w> made his 7293? (20 'v7)

1. The %x7w> should read the two o°pos that the "% read and add one
o5, and then another Yxw> should be called to complete the
required number of 291y (y°27p 1793)

g. Q: What if two o°pyop are read on naw or v”1?

1. Some say that another 7w should be called because there is no
concern with adding n1°%y on v”1"1 naw, as opposed to the weekdays
when there is such concern. Others say that the same 191y should fill
in the p10D

b. Ifonly nine o°pios are read in total, three for each %1, they need not return to read more, as
evidenced by pYny nws, which is only nine op1on; however, if only eight were read in total, then
they must read more (y71w)

1. Q: Why is nine sufficient?
1. Since there is an instance in which nine is sufficient (i.e. p2»y nwap), therefore it is
always sufficient 72y>723 (1> 273wn)
ii. Q: Do all agree?
1. No; the x713 and nxn o21o disagree (aw 271wn)
iii.  Q: nwyny, what should be done?
1. Even according to the first opinion, three more a°p105 should be read without a 7592
(W 2730n)
iv. Q: What is the case in which only eight o°p10o were read?
1. Each n%w read three o°pios, but two of the o*1y read the same 105 (1w 273wn)

. Q: Do all agree that if eight o°p1o5 were read, then more must be read?

1. No; some say that since all three o1y read three o°p1op, no more must be read
72Y>73 (AW 273Wn)

vi. Q: What is the meaning of 73732

1. The plural language is not literal, and it refers to the 721w who repeated an already
read p1op (v 271Wn)
a. Q: What should he read? (22 'y)
1. Three o°pyo5 from where he left off (o»nn 777)
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